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Which metal has so far not been
discovered in Harappan sites ?
(A) Copper  (B) Gold

Ty Silver D Irom

The major  food fuel during
exercise of lmg duration is—

{A) Fat

(B} Protrin

1y l._.arhu'h}'d'r.ah*

{0 Mone of these

Which of the following is nust an
important industry of Chhattis-
garh from the point of view of
production ?

(A} Trom amd Steel

(B) Cenent

[C) Chenibcal

D Aluminium

It & class the average weight of
150 students is B kg The
average wn:i]gh! ot by amd girls
i= B3 kg and 70 kﬁ respectively.
The rumber of girls in the class
15—

(A} & (B} 70

i 50 D RO

Remains of which animal hawve
nob been discovered in the Tndos
Valley Civilization ?

[A) Lion (B Horse

(C) Cow ([ Elephant
The body which controls the
participation of Indian teams in
Oy mpic game is—

{A) AAFI (B) 10

(C} 10A (Do) oA

Bhilai Steel Plant is a ...
ernherprise.

(A} Public sector

(B} Private sector

(C} Cooperative sochor

{0 Public-Private joint sectsr
Which of the fcrl'luw'ing s mob a
meeasure of cemitral tm-’]mr}' 7
[A) Mean

(B} Median

. Rigeeda consist of botal

. Gautam Buddha

(Ch Mode
(D} Variance

hyrrins.
[A} 1028 (B 1007
iy 1128 D 1020

. The term CUE is related bo—

(A} Badminton
(B} Basket ball
(C} Base ball
{1 Billiards

. Which one of the following type

of climate in Chhattisgarh State ?
(A} Hurnid South-East

(B} Sub Humid Transitional
{C} Sub Humid Littoral

(D1 Sub Humid Continental
attained
Mirvana at which place ?

(A} Kushinara

(B} Sravastes

(C} Lumbini

(DY Sarmath

. Which of the fcr'llow‘in?_ Fl'la'nrl:

takes maximum Hme o revolve
aroumnd the som ?

{A} Earth (B} Jupiter

CF Mars (D} Venus

. Federatiom Cup is related with—

(A} Men termis
(B} Women tenmnis
{C} Men Hockey
(D) Moo of these

. Galvanised iron s coated with—

(A} Aluminium
(B} Calena
Y Silver

(D) Zime

. Chhattisgarh region receives its

most of the Monsoon rains

from

{A} Bav of Bengal Branch
{B} Arabian Sca Branch
(C) Indian Oozan Branch
(D) Retreating Momsoon

21. Which one of

7

. Sachin scored

. The  most

. Name the

Which one of the following was
nt a Capital of Magadhan
Empire ?

[A) Girvraja

(B} Rapzriha

L) I"atali.'Purna.

(D) Koshambi

1Hith  century
agamst which counbry i inter-
national crickes 7

{A) Emgland

(B} Anstralia

[T} Pakistan

{0 Bangla Desh

. What metals constimate brass ?

{A) Copper and nickel

(B} Copperand tin

IC} Copper and zine

(D) Copper + zinc and mickel
mineralized  rock
system of India is—

(A) Dharwar system

(B} Vindhyan syseem

(C} Cuddapah system

(0 Gondwama system

the  following
Asokan 'ins.rri'pt'i-;m s im
‘Kharosthi’ script 7

{A) Ehalsi

(B} Gimar

{C} Shahvajgadi

(D Meerut

hdian Gold medal
winmer Hockey tearn Captain
which had won 1975 World
Cup ?

(Al Aman Eil:q.'ﬂ“.

(B} At Pal Singh

{C} Eoop Singh

{&]] .‘iand.nnp .'ii.ngh

25 Pencil lead is—

{A) Charcoal
(B} Coal

{C} Graphise
(I Lamp Black
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The richest Bipdiversity in India
s found in

LAY Silent Valley

(B Walley of Kashrir

() Valley of Flowers

(D Damodar Valley

The Capital of Maukharii was—
{AY Thaneswar

(B} Kannauj

() Purushpur

(M Mone of above

Mame Youngest Indian  who
climbed Mount Everest—

LAY D}\an.unjn}'

(B} Ravinder Kumar

{C) Abhinav Pandey

(A E:}] .-'l.ri'lm U.ai]:la'i

Thie Ozomee layer lies in the

(A} Photospher:

(8] Troposphere

() Tropopause

(DM Siratosphere

Sriharikota lsland located near—
(A Chilka Lake

(B} Mouth of the Mahanada

() Pulicat Lake

(I Mpoth of the Godavari

- How mamry Jvedirlingah are there

devoted to Lord Shiva ?

LAl & (B} 12

) 24 R
Who was awarded with
Padmashree in athletics ?
tA) PLT. Usha

(B} Milkha Smgh

() Bamdhu Singh

(0 Mone of above

Which of the following is found
in the composition of Vitamin
r?

{AY Ascorbic acad

(B} Calciferal

() Folic acid

{1 Retinol

In which part of India, the daily
TATEE of temperatane found
greater 7

1A Eastem Coastal ateas

(B} Interior arcas of Chhattis
garh plain

() Amdman =lamds

(DM Dwesert areas of Rajasthan

1=t

3

35

M

41.

The: Sum Temple of Modhera lies
in which state ¥

(A Bihar {B} Cujarat

i) Odisha (D) Bengal

The 1st Commonwealth games
were held—

{A) 1930 Harilton

(B) 1934 Australia

() 1935 India

(D} 1940 Pakistan

Which Vitamin is waber soluble ?
{A) Vitamm A

{B)} Witamm B

{C) Witarmin I

(I} Witamin E

Hazdo Valley in Chhattisgarh is
farmous for—

{A) Tron oTe mines

(B) Coal mines

() Bawwxite mines

(I Dolomite mines

_ Inwhich country is the ' Anglkor-

vat temple’ complex lecated ?
{A) Indonesia

(B) Myammar

{C) Sri Lanka

(D Kampuchea

Mame the person whe won Gold
Medal in XMW Agian Gamies
S'huuring; in China under
individual category 7

LAY Raitran.‘lhan Si'nr,'h

(B Abhinav Bindra

{C) Liyandar Pacs

(D T, Usha

SOMAR is mostly used by—

(A} Asironauts

(B) Doctors

{C) Engineers

(I Mavigators

[ralli-Rajhara mines of Chhattis-
garh are famous for—

LAY Cald F:'ndu-::l:im

{B) Mm‘lﬁammﬂpmd.ur.'irm
() Tron ere production

(I} Bawwite Fl'rodllrricm

Which ruler of Bemgal Foumnded
the ancient University  called
Vikramshila' ?

{A) Dharmapala

(B) Gopal

(0] Devpal

(O Mahipal

42

43,

47

A person swims upstream 11 km
and dowm stream 26 km, taking 5
hours each time. The velecty of
the current of the river is {per
haowr}—

(A} 15km (B} 2km

{C) 3km (I 35 km
Pyrometer is for measuning—
(A} Alr pressure

(B} High temperature

() Humidity

(D} Earthguake

Total number of districts  in
Chhattisgarh at presmmg

(A} 20 {B) 27

{C) 25 {0 18

Amir KEhusro was a

(A} Foct

(B Historian

() Musicologist

(D All of the above three

A train of lemgth 110 m passes a
pole in 3 second. How much me
it will take to cross a railway
bridge of length 165 m {secomds) ?
{A) 535 second

{BY 75 second

() 95 second

D} 11-5 second

Which is mot insect amengst
fnlhmi.nﬁ ?

LA 'Eur.'ﬂ-ﬂg,'

(Bl Cockroach

{C) Mosquits

(D} Spider

Mangrove (Tidal forests) wege-
tation i India is mostly foand
in—

(A) Malabar coast

(B} Sundarbans

{1 Rannof Kachohh

(¥} Dandakaranya

. Which European traveller came

tor India during the regime of
Auranggeeh ?

{AY William Hawkins

{B) Thomas Roe

() Amtomia Monserrate

{0 Fr!m"\.’l'um']}'

In what ratio SUFAT at £ 32 |-|:§;.
shiould be mived with sugar at
T 3750 kg in order that the
mixture is worth © 3450 kg ?

(A) 8:3 (B} 7:4

{C) 5:6 D) &:5
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Comcave lemis is used fo oprmect
[A) Cataract

(B} Hypermetropia

[} Myopia

(D) Presbyopia

. Which among the one following

river does not make a delta 7
[A) Mahanadi
(B} Godavan

(T} Marmada

(D) Kaver

Akbar launched ‘Din-i-lahi® in
the year—

[A) 1570 (B} 1578

{Ch 1561 (I} 1582

. There are & sieps for rnu:n.ri'nﬁ

froome First floor o second Floor,
.-\n:.r twir persOns canniod e om
the same step. Ris 2 sheps above
P is 1 step above 5 and R s 2
steps below 5 1F P is om 15t step,

thiem s on L, sRP,
Al Third (B} Fourth
{C} Fifth (Y Sixth

. The important metal vsed with

iron to produce stainless steel
{5—

{A)l Aluminiom

(B} Carbom

() Chromium

() Tin

. The winter rainfall in Chhattis

r,'arh area is mai'nl}' due by one of
the: follpwing

{A) Rr"!'rml'ing TROTS00T

(B} 5. W. Monsoon

[T} 5. E Monsoom

(D) Westem depressions

. Which company started the First

Railway Service i India ?
{A) Eastern Railway

(B} Great Indian
Railway

[C) Madras Railway
(D) Awadh-Tirhut Railway

Peninsula

L AL QL Y, E are different persoms.

L ix the father of Q. A is the
daug}\h'r of ¥ and Y is the son of
Z, If P i= the spm of Y and B is the
‘brother of P then

{A) Band Y are brothers
(B} Aisthe sister of B
() Z s the uncle of B
(D Qand Y are brothers

58,

&1,

&

63,

&5,

Which is the highest mountain

onoearth 7

{A) Mopunt Everest

(B} Kanchanjanga

{C} Lhotse

(D Makalu

Which one of the following pair

in Chhattisgarh s not correctly

mabched ?

{A) Raipur

(B} Bharatpur
—Rice milling centre

(C) Durg-Bhilainagar

—Imdusctrial city

([} Khairgarh —Ciedden by

Which letter would be placed in

the emphy box ?

—State capital

BDGK D
(Al O (B P
) M R

How many bones are in Shark
Fish ?

(A) 100
()} 20

(B) 0

(DN 300
Maximum rocks extension in
Chhattiggrarh is—

{A) From Duccan Trap

(B} From L'udd.apah'l'up

() From Dharwar Trap

(0 From unelassificd crysta Mat
1N

Which ome of the following pair
i= mot correctly matched ?

Steel plant Collabarating
country

(A) Rourkela Germianmy

(B} Bhilai 0ld LS5R

(C) Durgapur LK.

(D) Bakaro US.aA.

In which of the following parts of
India are the largest reserves of
mineral ?

{A) West (B} South
()} Morth (D} Sooth east

o MaNY SqUATES aAre there in
the given figure ¥

(A) 5
i 34

(B =
(o) 32

hE,

e,

7o

A Fr.ugﬁ arecold-hlopded animals

(A} Troe
(B} False
)} Mone of above
(D) Al of the abowve

Which one of the following
statement i8 not correct about
Chhattisgarh State ?

{A) The State is predominently
an agricultural area

(B} More than 759 o as [ -
latiom lives im willages

i} The agricultore
depends largely on raimtall

I'IL'!FC!

(0 The aﬂr‘inllh:r\r POOTHIY of
the State iz characterized by
Fl'lanr.al.'ign f.trm'i|1§:

Which of the followimg district of
Chhattisgarh is the smallest in
term. of area ?

(A} Dantewada

(B} Kawardha

{C} Raipur

(D Durg

How many minimurm number of
different colours a painter must
use b paint the Agure below, so
that mo two adjacent regions
havee the same colour ?

(A} 2 (B) 3

) 4 (D) 5
. Dogs are herbivores—

(A} True

(B} False

(C) Mone of the above
(D) Al of the above

. The reduction of voting age from

21 years fo 18 years for the Lok
Sabha and Legislative Assem-
blies wast done through—

(A} Fifty-minth Amendment,
1988
(B} Eisrrg,' firsk Amendment,
1589
{C} Sixty-fourth  Amendment,
1550

(D) Seventy-third Amendment,
1942
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Which of the fl:l”m\."iﬁf: is not a
reason for loss of agrirul!tlral
land in Chhattisgarh 7

{A) Expansion of roads

{B] Urbanization
() Industrialization
(D Expansion  of
factlities

I Chandra is shorter than Recna,
Puja is taller than Sita and Sita =
taller than Reena, who among
thern is the shortest ?

(A) Muja (B} Rerma

() Sita (D) Chandra
Who is father of Modern Gene-
tex ?

(A Gregor Johann Mendel

(B} Hugo De Vries

() Charles Darwin

(D) Thomas Hunt Morgan

A member of Public Service
Commission can e removed
from his{her office under which
Article of the Constitution *

{A) 315 (B} 316

)y 217 (D) 318

iTTigation

. Chhattisgarh  state came  into

eisbenoe on—

LAY Movember 1, 2000

(B} Mpvember @ 2000

() Movember 10, 2000

(I Jamuary 1, 2000

A city has population of 3,00.000
cut of which 1,580,000 are males,
5% of the population is literate,
1F 70 of the males are literate
then mumber of Hterate fomales
would be—

{A) 30,000 (B} 54,000

(C) 24000 (D 60,000
. What is Mushroom ?

{A) Pungi (B} Plamt

() Animal (D) Bacteria

Who acts as the Secrctary of
Matiomal Development Council
(WD) ?

LAY Fi-c:l.'m!ar}'.. I'u'lini.str:( af

Finamr:
(B} Sd."l'Tr‘h'-IT}'_. \.{in'i:;h'}' anf
Planming,
() Secretary, Plaoming Com
issic

(D Secretary, Finance Commis-
sHm

&1

"L

e

BE.

Which district of {'h'harl'iuﬁarh
has the: largest area 7

{AY Korba

(F} TFastar

() Dantewada

(D} Raipur

A bow has 2 marbles each of red,
blue, yellow and green colours.
The box is kept in & datk room
whete the colours of the marbles
cannot be distinguished. A boy
wants 2 marbles of the same
colour. How  many  different
marbles he must draw from the
browt 50 that b is sure that he has
got 2 marbles of the same
codpur 7

(A) 5 (B} 4

i) a3 (&

Of thee fslloawimig which one is mot
a fish 7

{A) Star fish (B} Saw fish

() Pipefish {0 Guitar fish
Which of the fellowing tribes is
meot found in Chhattisgarh 7

(A} Bhotia (B} Gonds

() Maria (D} Banias

- Which Article of the Indian

Constitution prescribes eligibility
conditions for re-election to the
post of Pressdent of India ?

(A) Article 52 (B} Articke 54
(C) Article 55 (D) Article 57
There are four relatives, A, B, O
and . A is three Hmes plder
tham B. Cis half the age of D. B is
older than ©C, Which of the
folbowing can be inferred ?

(A) B is older than

(B Ais older than D

(C) A may be younger than D
(D) Mone of these

- Which element is the best con-

ductor of electricity *
{A) Salver

(B} Copper

{71 Aluminium

(D} lron

Im which List the 'J’zmﬂ'\a}lal‘i Baj”
subject is mcluded ?
A Umign List

(B} Stabe List

() Comeurrent List
(D Rr':iduar:.r[.'i:r

B

41

23

85,

Which is the first Matiomal Park
of Il ?

{AY Kanha Mational Park

(B Dudhwa Matiomal Park

[{] Raiaji Mational Park

(¥ Corbett Mational Park
Which will be: the next number in
the following series ?

18,27, 64, .
(A) 135 (B} 138
i) 81 HEI RN

Which country has the status of
only ‘Dhalogue Partner in the
ASEAM?

(A) Vietnam
{B) Combodia
() Singapore
D} Imdia

2 The primaiple “That all 'Pms]:!h: are

fully and equally human' s
krgmam as

1A Universalism

{B) Holizm

41 Sociali=m

(D Inberactiomi=m

In which Seate Nandadevi Bio-
sphere Reserve is located 7

(A) Chhattisgarh

(B Assam

() Himachal

(I Uttarakhand

Rarwesh walks 400 mietee in north
direction from his howse. Then
he turns right and walks 400
matre. Mow he walks in South
direction for 100 metre. How far
is he from his house if the dirsct
distamce from his house to this
point is taken 7

LAY 30 m (B} 900 m

() 300 m (D) 200w
Where was the Miss Werld 2011
comtist held 7

(A} Califormia

(B) Paris

() London

(M Victoria

The three-tier system of Pancha-
vati Ra) was initially recommen-
ded by—

{AY Balwantrai Mehta Commis-
s

B Ashok Mehta Committes
() LM, Singhvi Commuittes:
(¥ GOV K. Rao Commities
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. A particular

. The First

. Which i= the largest river of

Chha r."iuf,arh ¥
[A) Indravat
(B} Marmada
() Mahanadi
(D0 band
mumber  when
divided by 24 leaves a remainder
of 1. If that particular mumber is
divided by 3 then what will be
the remamder ?
(Al 1

cr 3

B 2
D} 4

. Who was the Chief Election

Officer in the UF 2012 election ?
{Al
(B}
(il
o]

Anita Meshram

Umiesh Sinha

Avanish Sharma
Mrityunjaya Kumar
matiomalizabion  of
Banks in India was domse—

[A)] In1%350 (B Im 1960

(T} 1Bas (DY Im 1979

The Bhagirathi river originates
from—

[A)] Gangolr

(B} Gomukh

(T Mansarover

{0y '.I'aP-ewan

In a schowl of S0 stodents, 16
dos ot play cricket, 200 do not
play football, 35 neither play
cricket nor foothall, Hove many
pla}' foothall buat do not ph}'
cricket ?

(A B

(B} 50

[

(D) Data is imsafficient

What was the mumber of the
Congress Party women candi-
date in second phase Assembly
Elewction 202 ?

(Al &
cp 7

(B} 9
o 10

. The declaration of reforms on

Angast X, 1917 i known as—
Al Mu‘nfﬂﬂlt‘ dreclaration

[13]] Mg_n'lr:,.'drr'laml'i-:m

(C} Minto declaration

([ Chelmsford declaration
VWhich of the f{}”l:lwihﬁ shabes is
lecatend im the Morth of Chhattis-
garh #

114

111,

113

{A] Maharastra

(B} Madhva Pradesh

(T} Uttar Pradesh

(D) Odisha

There are 21 ows of seats in an
amphitheatre. Each row has 4
seats more than the Tow in fromt,
The Last row has 100 seats. How
many seats are there altogether
im the: amphitheatre ?

(A) 1280 (BY 1200

() 1140 (D 1080

_ A village in the plain area of

India comes under the Pradhan
Mantri Gram Sadak Yojna, if its
population is more than—

[A) S (B} 10

(C) 1500 (D) 2000

The 'Riy_hr hoy r"rggu"rr}" was
deleted from the List of Funda
mental Rights guarantesd to the
citizens of India by—

(A) Forty-secomd Amendment
(B} Forty-third Amendrment

() Forty-fourth Amendment
(D} Forty-fifth Amendrment

. Surguja district is located in the

......... of Chhattisgarh state.
(Al Morth (B} East
(C} West (D} South

How many mrtan]5|vnx of diffe-
remit sizes can be formaed by using
4 squares which are identical 7

(A) 1 (B) &
1 & i 4
Which rountry allow  Inter

natignal Atmic Enr'rm,r .-'hﬁr"m'}'

I|1s=.'|'.|r\rt|:rr ED access mil'i!.:.r}'
corples

(A lsrael (B} Iran

(T} hudia (L Morth Korea

Chhattisgarh  state  shares  §ts
boundarses with. . Indian states.
(Al 7 (B 5
iy e o) 4

Final decision on gquestion as to
d'isquz]il:inaﬁ,m'l of Members of a
Legislative Assembly s taken
by—

tA) Chict Minister

(B} Governor

(C} Chicf Justioe of the High
Court

([ Speaker of the Legislative
Assernbly

114,

115

174

118,

114

120

Find the value of A and B in the
Fgares gven below—

b | &b 5|24

<| Iw Y D
{A) 48, 24 (B) 40,20
{C) 38, 24 ([¥) 48,20

Former UM, Secretary-General
Eofi Anman visited to which
country tecently in hope of
starting peace process there ?

(A lsrael (B) Afghanistan
{C} Syria (¥ Egypt
Mahatma Gandhi gave thee Eitle
of "Sardar’ to Vallabhhhai Patel
for his great grﬂan'i?.a!'il:uul skill
im
[A)
(B}
)

The Kheda Satyagraha

The Bardoli Satvagraha

The Salt Satyagraha

(0 The Individual Satvagraha
The maximum north fe south
length of Chhattisgarh state s
betwiern—

[A) S00-600 km

(B} H0-7160 km

() A00-500 km

(D) FO0-800 km

In a code language DRIME s
written as SFEAR and BRACE is
writtem as UPION, What will
BRICKE b writben as in that
language 7

{A] UPEIR (B) UNEOR

(C) UPEOR  {[¥ VPEBR
What is maximurm expendinun:
limit  for the Parliamentary
Electioms of a constitnency 7

[A)] T25Lakhs

(B} T 4 Lakhs

() T 70 Lakhs

([ T one crome

Frivilege motion can be raised
against a Minisher when he—
{A) loses confidence in the
Lovermment,

(B} abscnts hims=elf for a Icrnﬁ
timr,

1} withholds facts of a case or
gives a distorted versions of
fants.

{0 avoids collechive responsibi-
lity of the Cabinet.
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124,

135,

125,

127,

128.

129,

. Generally the slope of Chhattis

garh state rards
A) Wes {B} South
{7 Morth ([ East

Mode value of any series is—
LAY Middle value

(B} Value whose frequency is
LA TR,

(0] Minimum frequency valoe
(D Limnit value

. When was the resolution to

divide UP. in four States was
passed by the UP. Assembly #
(A) 24-11-2011

(B] 21-11-2011
€0 22-11-2011
D 23112011

Which one of the following pro
visions deal with the privileges
and immunities of the Members
of Parliament under the Consti-
ttion of ndia 7

(LAY Article 104

(B Article 105

(0] Article B2

(D Article 117

The maximum geographical area
of Chhattisgarh stabe is under—

LAY Mpuntams

(B}
() Platean

(I3 Pats

If the arithmetic mean of 25, 17,
19, x iz 19, then the value of ¥
1%

{A) 21 (B} 14

)13 (D) 15

With which among the following
countries, India has  mecenthy
signed Bilateral Aviation Safety
Agreement {BASAL?

{AY Australia (B} Canada

() UsA (D) UK

Which one of the following is not
in¢luded in the ‘Union List’ of
ther Comstitution of India ?

{A) Defenos

{B} F-em:'iﬁn Affairs

P'lains and rver basins

{C) Railways

{1 .-'I.I';riru'lh.rrr-

Maikal Moomtain range is mok &
part of which of the Fqllvw‘ing
districts of Chhathsgarh ?

131,

133,

134,

136,

{A) Rajnandagacm

{B] Kawardha

() Raigarh

I} Bilaspur

If the miediam of the distribotion
10, 12, 13, 16, v, 20, 25 30 is 18
them the value of xis—

{A) 18 (B} 16

{C) 20 (D 22

As per the recent data, which
among the following is the top
state i ferms of number of
dormistic ourisd visits

{A) Andhra Pradesh

{B} Uttar Pradesh

) Cioa

{0} Rajasthan

o many members are niomi
mated in the Ir'r:iql.a!'ivr- LCoumcil
of Uttar Pradesh by the State
CovemaT 7

{AY 110 0f the total members
(B 178 of the total members
1) 177 of the total members
176 of the total members
Which of the following district =
part of Marmada basin ?

{A) Rajmandgaon

{B) R.:ii.pur

{C) Bastar

D} Korba

The median of the 2.3, 4,5, 7, 1.8
is—

{Ay 4 B} 5

c) 7 {11

Which among the following is
the Tup State i Imdia m terms of
Foreign Tourist Visits ?

{A) Rajasthan

B} Goa

{C) Maharashtra

¥ Dhelhi

Which of the fellowing is not
true about the Anti-Defection
Bill ?

{AY Anm MP. or an MLA. will
be disgualified i he has volon-
tarily given up the membership
of the party o which he belon-
e,

{E}

absener from veting in the house
on A par."irular is=ae, the M.P, or

KLL.A. will be disqualified.

Im the event of a member's

137

138,

139,

140,

141.

142

1435,

144,

{(C1 A member shall mot be dis-
qua.|:if:ind.. if there is a METEET of
political parties.

(I} The Speaker of the Lok
Sabha will not be di#rl:lﬂﬁﬁf‘d. if
he becomes a member of angther
]'.\ul'il.'ir.a'l party laiker on.

The average anmual ranfall of
Chhattisgarh is—

(A 1400-1425 mm

(B 1390-1400 s

() 1425-1450 mm

(D 1300-1325 mm

Mopde of the distribution 3, 5, 7,
4,2, 4,3, 4 is—

{A) 2 (B} 5

[ (D) 4

Who is the Managing DHrector
(MY of Delhi-Metre Rail Cor
poration {DMREC) at present 7
(A} Shri Mangoo Singh

(B} Shrn E. Shridharam

() Shri M. Gopalan

(D Mome of these

Which of the following is the
subject of Concurrent List 2

(A} Police

(B Criminal matbers

() Radioand Television

D} Foredgn Attairs

Which is the main coal produc-
ing arca of Chhatbsgarh ?

A Korba

(B} Mand-Raigarh

() Sonhat

(D I.R'k'han'pur

I thee followimg Positional mean
I5—

(A) Arithmetic mean

(B Median

() Gepmetrical Mean

D} Mone of the aboas

To which member of Parliament,
the best Parliamentatian Prize
200 was awarded ?

{AY Shn jas.waan'ingh

(B) Shri Mashan Singh

() Shri Balkrishan Sharmma

(¥} D Murli Manohar Joshi

A Panchayat Samiti at the Block
lewil is—



145

147,

13

[,\]@ Advisory Body

(Bl An Administrative Autho
rity

() A Consultant Comrmitbes
(D} A Supervisory Authority
What was the sex-ratie in
Chhattisgarh according to the
Cemsus of India 2000 ?

{A) W80 [

(C)} %56 (D) Sina

. The mean of 5 numbers is 18 I

pne number is excluded, then
mean becomes 16 The excluded
number is—

{a) 3 {E) 18

i} M (¥ 2%

Vitho was the Chief Guest in the
Indian Rr]'mhlir f]a].r Celehrakion
2007 7

[A)] Micolous Sarkowi

(B} Wladimir Putin

(C) Yingluck Shinawatra

(D) Mohammead Khatmi

The provisions regarding divi-
sion of taxes between the Union
and the States—

{A) Can be aux]:!n-:ndnd. duri:n]g
fimancial emergenoy

(B} Can be suspended during
Matpmal Emrr!;c'nr}'

{C) Cannat be suspended under
any circumstances

(D) Can be suspended only with

the consent of majority of the
State Legislamres

. Which of the following is not a

harbour ¥

(A) Kandla

(B} Cochin

() Bengalura

(D) Mangalome

The average age of six member
Famil}- i IT years. It the e of
youngest member is 7 years, then
the average age of the fam'i'l}' at
the fime of hirth of the youngest
member was

{A) 18 years

(B) 20 years

(C) 16 years

(D) 19 years
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